
                               
                                   

                                          

              

                                                           



                           

Permittivity at room temperature:
ε∥ = 9.0249±0.0005
ε⟂ = 10.737±0.0005



                        

f0 = 14.934048 GHz

  
 
          

 
      

  
 
             

 
        

  
 
            

 
        

                            
                         



                        

                                       
                               
                               

 
       

                              

n = 8.28 ± 1.24 x 1013 cm-3 which is on 
the order of ppb.
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